DESIGN

"ASHLEY"

REPLACEMENT PART DESCRIPTION FORM

MODEL #: 2650516/2650545

J FACTORY USE ONLY!!
PART DESCRIPTION USED ON: | MRP# |PRICE ¥| FOB $ MATERIAL QTY.
PACK| P/M
Fabric Content:
1 Back Cushion(661x405x150mm)| 2650516 |R74385 100% Polyester 1 F M
Cleaning Code: W
Fabric Content:
1 Back Cushion(661x405x150mm)| 2650545 |[R74386 100% Polyester 2 F M
Cleaning Code: W
Fabric Content:
2 Left Arm(w/Frame)(905x512x112mm) | 2650516 |R74387 100% Polyester 1 K M
Cleaning Code: W
Fabric Content:
3 Right Arm(w/Frame+USB Port)(905x512x112mm) [ 2650545 | R74388 100% Polyester 1 K M
Cleaning Code: W
Fabric Content:
4 Backrest #1(w/Frame)(1250x324x180mm)| 2650545 |R74389 100% Polyester 1 K M
Cleaning Code: W
Fabric Content:
5 Backrest #2(w/Frame)(640x324x180mm) [ 2650516 |R74390 100% Polyester 1 K M
Cleaning Code: W
6 Left Mechanism (w/Bolts)(375mm)| 2650516 |R62400 Metal 1 C P
7 Right Mechanism (w/Bolts)(375mm) 2650516 [R62401 Metal 1 C P
8 Mechanism Spring (L=180mm) | 2650516 |[R62402 Metal 2 G P
9 Left Mechanism (w/Bolts)(580mm)| 2650545 |[R62403 Metal 1 F P
10 [Right Mechanism (w/Bolts)(580mm) | 2650545 | R62404 Metal 1 F P
11 |Left Wheel (w/Screws) 2650545 |R62405 Metal+Plastic 1 G P
12 |Right Wheel (w/Screws) 2650545 |R71055 Metal+Plastic 1 G P
13  |LBracket #1(w/Screws)(30x30x25mm) | 2650545 |R77078 Metal 4 G P
14 L Bracket #2 (w/Screws)(78x60x25mm) | 2650545 | R62407 Metal 4 G P
15 |Connector #1(M+F)(w/Screws)| 2650516 |R62408 Metal 2 G P
15 |Connector #1(M+F)(w/Screws)| 2650545 |R62408 Metal 4 G P
16 |Connector #2(M+F)(w/Screws)| 2650516 |R62409 Metal 4 G P
16 |Connector #2(M+F)(w/Screws)| 2650545 |R62409 Metal 4 G P
17 [T-Nut (1/4in x 13mm) 2650516 |R37785 Metal 26 G P
17 [T-Nut (1/4in x 13mm) 2650545 |R37785 Metal 20 G P
18 [T-Nut (1/4in x 15mm) 2650516 |R31779 Metal 4 G P
18 [T-Nut (1/4in x 15mm) 2650545 |R31779 Metal 10 G P
19 [Leg #1 (w/Screws) 2650516 |R62410 Plastic 6 G P
19 [Leg #1 (w/Screws) 2650545 |R62410 Plastic 4 G P
20 [Caster (w/Screws) 2650545 |R62412 Plastic+Metal 4 G P
21 USB Ports (w/Plug) 2650545 |R66061 Plastic 1 G P
#8x50mm Screws (8)
22 |Hardware Pack 2650516/2650545( R64625 #8x25mm Screws (8) 1 G P

SIGNATURE DESIGN BY ASHLEY®

All Rights Reserved.

July 2022

Page 1 Of 2




.
DESIGN
“ASHLEY"

REPLACEMENT PART DESCRIPTION FORM

MODEL #: 2650516/2650545

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. July 2022 Page 2 Of 2




